
Overview of Strst egies f or Leorning
Multiplication Focts . Notes f or Fornilies

fnsfead of learning facts in rryular numerical order try this sequence for beffer
resulfs. Usirg this arder gets af facfs thaf are easier to learn thraryh patterns
and leaves the hardesf ones fo memorize lafer.

x ? focts
llAost children sre used to countingby 2's so multiplying by 2 brings fsmiliqr
nurnbers for snswers. Just use the in this to lock in the

x 5 focts
Most children qre slso used to counting by 5's so multiplying by 5 also brings
fomiliar numbers for onswers. Just use the gomes in this pocket to lock in the

hcI lrr.

x0xlfocts
Zero ond one qre eosy to do if o child doesn't confuse them with whot 0 ond 1 do in
addition. Help your child think of, stories to be sure they are multiplying by zero
and one correctly. E.g. If you hava 4 boxes of no (O) eookies you hsve 4 zeroes ( 0 +

0 + 0 + 0) so you hove nothing. Or if you have no {zero} boxes of 4 cookies yor.r dont
hove any boxes of cookies so you hsve zero cookies. If you hove 1 box of 4 cookies

you hove just four cookies - the some number os the set af things. ff you hove o

box of I cookle four times hsve 1 + 1 + I + L or 4 cookies.

0x2=0 I x ? = ? ?, x 2 = 4 3 x 2 = 6 4x 2 = IX?, 5 x ? = 10 6 x?= L? 7x?=L4 8 x ? = 16 9 x ? = 18

Remember to proctice fqcts bofh woys - e.q. 8 x 2= 15 ond 2 x 8 = 16

0 x5 = 0 1x5=5 xZ x5 = tO 3x5=15 4x5=?AX5 5x5=?5 6 x 5 = 30 7x5-35 8x5=40 9x5-45
Remember to practice fscfs both wqys - e.g.7 x5 = 35 and 5 x 7 = 35

0x0=0 Lx0=0 xZ x O = 0 3x0=0 4xO=0
xBx0=0 6x0=0 7x0=0 8x0=0 9 x 0 = 0

0 x I = 0 3 x 1= 3 4x 1= 4L X I = I re? x x = ?
:k5x1=5 6xL=6 7 x 1= 7 8 x L = I 9x1=9

Remember to proctice focts both woys - e.q.T x A= 0 and 0 x 7 = 0
* indicates a fact already learned in a previous group @200-? Nancy Nutting Strategies lo A,[ake Focts Stick 5
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x I facts
Nines'in multiplicotion creotesome nice patterns since 9 is close to 10 ond our
number system is bosed on tens.

--tlne onswer to a number times 9 always stcirts with a number in the tens ploce thot
is one less thon the number you ore multiplying x g. The ones ploce is the number
you would need to odd to thst one to eguol 9.

? x I = 18 (the answer starts with 1 and 8 more = 9 sc the answer is 18)
3 x 9 = 27 (theonswer storts with 2 ond 7 more = 9 so the onswer is ?7\
4 x 9 = 36 (the onswer starts with 3 ond 6 more = 9 so the answer is 36)
5 x 9 = 45 (the sRswer stsrts with 4 and 5 more = 9 so the snswer is 45)
6 x 9 = 54 (the cnswer storts with 5 and 4 more = 9 so the onsuuer is 54)
7 x9 = 63 (the onswer storts with 5 and 3 more = 9 so the onswer is 63)
8 x 9 =7? (the onswer starts with 7 ond 2 more = 9 so the onswer is 72)
9 x 9 = 81 (the onsurer stqrts with 8 and 1 more = 9 so the ansurer is 81)

Note: txg = 9 (the enswerstorts with 0 ond 9 more= 9 so the answer: is O9 which
we usuolly yurite just os 9)

Another way to quickly see fhe onswers to 9's fqcts is to use your ten fingers. Put
your honds up with thumbs in the middle. Number your fingars from 1 to 10.

Look ot the number you are multiplying x 9 and bend down the finger for thot
number. To the left of the bent finger is the first digit of your answer; to the
right of the bent finger is the second digit.

q x+ =5t ? " 7=L3

Bend your fourth finger down. Bend your seventh finger down.

While these strotegies seem time consuming, they loclc in the patterns fon the x g
fscfs. ft is bett er to hsve s woy to get the right answers rather than just
guessing at onswers. Practice will loclq fhe focts into your rnemory if you practice
the right ones.

* indicates a fact aJready lea"rned in a previous group 02003 }r.ancy Fr,utting St"ateg;"es tt klske Fasts Stick 6
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X9
*0x9=0 *1 x9=9 *?x9=18 3x9=?7 4 x 9 = 36
x5x9= 45 6 x I = 54 7x9-63 8 x9=7? 9x9^=81

Remember to prsqtice facts both woys - e.E.7 x9 = 63 and 9 x7 = 63
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Doubles '(0 x 0 = 0
x1 x 1 = 1

xZ x 2 = 4 3x3=9 4x 4= 16
x5x5=?5 6x6=36 7x/=49 8x8=64 *9 x I = 81

Doubles facts
These are the focts where you multiply the some number times itself

ft helps to make a picture of these numbers - they make o squsre because they
ore the some length ocross and down the sides. E.g. six rows of 6 or 6 x 6 looks
like this:

6x6=36

x 3 x 4 focts
Threes qnd fours ore eosy ofter your child has lesrned oll fhe other groups first.
There ore not too many focts to learn now. ff memonizing these facts is hard, your
child con alwoys think sbout x3 qs doing x2 ond then odding another group. E.g. 3 x
7 is lhe some as 2 x 7 which is 14 end then odd on another group of 7 ta make 21.

ff fours ore hard for your child, helshe can think obout ? xthe number twice. E.g.

4 x7 is the scme os 2 x 7 ond ? x7 which is 14 + 14 tuhich is 28.

H3
X4

*0x3=0 *1"x3=3 x? x 3 = 6
*3x3=9 4x 3= L?

*5x3=X,5 6x3 = 18 7 x3 = 7L 8x3=?4 *9x3=ZT
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*5 x4= ?fr 6x4=?4 7 x4= eB 8x g=3? *9 x4= 36

Remember to proctice facts both wcys - e.g.7 x 4 = 28 and 4 x7 = 28

* indicates afact alraad'J learned in a previous group @200*? Nancy Nutting St.,ateges to Make Facts Stick 7



x&xTxsfacts
Your child is now justdownto 3 factsto learn: 6 x7,6 x I ond 7x I ond the 3

facts thot ore formed by recrronging the numbers (7 x 6, I x 6 qnd 8 x 7). Three
facts are not too much to leorn nowl Just try the 

-qomes 
in this packet to lock

these fscts into memory.

x*
x7
x8

x0x6=0 x1 x 6 = 6
xZ x 5 = L? *3x6=18 *4x 6 = 74

*5 x6 =30 't6 xb =36 7x6=42 8x6 = 48 *9x6 =54x0x7=0 *1 xT =7 x?x7=14 x3 x7=ZI x4x7=?8
'rb xT = 35 6xT = 42 xTxT=49 8x7=56 xgxT=63
x0x8=0 xlx8=8 *2 x I = 16 *3x8=24 *4x8=32
:h5x8=4C 6 x I = 48 7x8=56 :kBx8=64 *9x8=7?

Remember to proctice fscts both_ryoys-e.9.7x8 55 ond I x7 = 56

* indicates a faa already iearned in a previous group @2003 Nancy N,utting Strqtegies to fulak"e Facts Stick I


